Numatic

Mumeliic.com

ANAR

Origimalflinst



X4

BUFFER

M8 M8 X 25 M5 X 25 M5 X 35
SM1415 SMX1415

X1

Al

@. o(sg




DESCRIPTION

QTY

—_

TROLLEY BASE REFLO

FRONT UPRIGHT FRAME ASSEMBLY

REAR UPRIGHT FRAME ASSEMBLY

3 PIECE LIDSET REFLO

CLIP ON HALF TRAY DIVIDED

WASTE BAG COVER MOULDING*SMX ONLY

6LTR PAIL (RED HANDLE)

6LTR PAIL (BLUE HANDLE)

O[N] |WIN

SHORT BAG SUPPORT TRAY *SM ONLY

N
o

WASTE BIN SUPPORT FRAME*SMX ONLY

AlalalalalNA]l~l——~

3




1415

SM/SMX




SMX-1415

i

M5 X 35




SMX-1415




SMX-1415




SMX-1415




SMX-1415




M8 X 25

M8

SM-1415 [xq4

10



SM-1415




SM-1415

912644 A06 03/24



